
UWSTA.COM  •  NEED ASSISTANCE?  •  877.287.8634  •  003-CBOXMK-INS-RA  •  PAGE 1

INSTALLATION MANUAL 003-CBOXMK

Parts List
2 Flange bolt, M8

2 Flat washer, 5/16" rubber bonded

2 Turn nut, M8

Torque Specifications
M6 bolt 3 ft-lbs.

M8 bolt 7 ft-lbs.

M10 bolt 16 ft-lbs.

M12 bolt 28 ft-lbs.
Use above torque setting unless otherwise noted

Tools Required
Wrench set Drill bit, 1/2"

Drill --

Level of Difficulty
Easy

Notes and Maintenance
Before you begin installation, read all instructions thoroughly.

Proper tools will improve the quality of installation and reduce the time required.

Refer to the table to the left when securing hardware during the 
installation process to help prevent damage to the product or vehicle.

Product Photo

Product Registration
CURT Group stands behind our products with industry leading warranties. 
You can help us continue to improve our product line and help us understand 
your needs by registering your purchase by visiting:

warranty.curtgroup.com/surveys

At CURT Group, customer is king. We value your feedback and we use that information to make 
improvements on our products. Please, take a minute and let us know how we are doing.

 WARNING
Before drilling into your truck bed, refer to the installation manual 
included with your UWS tool box for all notices, cautions and warnings.



UWSTA.COM  •  NEED ASSISTANCE?  •  877.287.8634  •  003-CBOXMK-INS-RA  •  PAGE 2

Step 1

Align your UWS tool box to a desired 
location in the bed of your truck. Drill 
a 1/2" hole in the desired location. 
Insert a turn nut into the drilled hole.

Step 2

Place a bonded flat washer onto a flange 
bolt and gently push the bolt into the turn nut.

Once the turn nut rotates, insert 
the flange bolt into the turn nut and 
tighten to the torque values specified 
on the first page of this manual.

Note: Cross sections shown are for 
reference only. Fasteners will be used to 
secure the tool box to the bed of a truck.

With the tool box installed, periodic 
inspections should be performed to ensure 
all mounting hardware remains tight.


